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Breakfast

u]»’;}j’-/\] 22]- o] A A A /4= AH) 22,000
Bacon, Sausages and Eggs served with Toast

A237) v Y rur) a5 18,000
Beef Seaweed Soup

¢ $AR AT o m mw 18,000
Beef Brisket and Dried Radish Leaf Soup
AL HE EFER A an ez 18,000
Soft Tofu Stew with Abalone and Seafood
<= o]--_—;'—j—."- g /2 Ah) 18,000

Sea Mustard Soup with Clams

Lunch&Dinner

Seowon Chef Competition Menu

@I = AEE /520 25,000
Seafood and octopus soup
@ = e velo] 28k A -$-FF (2u/maan 23,000
Beef omulet rice with fried shrimp
EgvEd 2 A vl e /sa 23,000
| Thlstle Salad & Assorted mushrooms bibimbap
R X wue] FAAL Dtega/m0) 23,000

Cheongdo Dropwort Pork Belly Rice Bowl

LA7]'H]9,]- \gtﬂ A317] /724 28,000
LA-Style Short Ribs and Cold Noodles

ZH| A 5o IR 8 (san/msan 27,000
Beef Short Rib, Sliced Button Mushrooms, and Octopus Soup

FolHAl | ED T (somn/zwa 22,000

Seafood and Sliced Pine Mushroom Rice Bowl

o], 7ol ek HAHAZR A (sei/ s 20,000
Grllled Mackerel, Fried Tofu, and Soybean Paste Stew

R L IEETEES 18,000
Buckwheat Cold Noodles with Water Parsnip
7] v D= sz 18,000

Beef Seaweed Soup

AR AT (w0 /m0 =) 18,000
Beef Brisket and Dried Radish Leaf Soup
AE = SFEAMN A= mA2g/294) 18,000
Soft Tofu Stew with Abalone and Seafood
T% O]-:.i-‘:l—."- EYEVENS 18,000

Sea Mustard Soup with Clams

W} B RLHAS ARREHLICKDZ IR -2+ B =4
 NRIZIANINE DXL BE 22 SR, NS, 21), SUs BEE0R HF o £
SIS 012 HES AN MAS HSELICH
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AFAFE (4, W)
obl 2] 7} / ofo] & ol 2] T
Fhsietu) / ofo] = 7ol 2w

)

12,000

10,000/12,000
10,000/12,000

FFER) = 10,000
A 732} 3,000
T A2} 3,000
| =z} 3,000
24 %3 S
A SE (Rolth, Zeh) 5,500
. =2
T
el 179 (500ml) 280,000
) = 8,000
A F 300cc / 500cc 9,000/10,000
AW 2.000cc 42,000
=gu]qgd AWFE 300cc 10,000
3t8 41 65,000
3t8 25 095,000
3t8 17 45,000
AdEZE1924 095,000
22 (Fo) xS 9) 14,000
223 14,000
TR AYES T 20,0009, 44T
o) ohel S =7 S BALR 10,000810] F7hE U
- A iR = =LHAS AESEILICKAFRIIE-=LH+ES=41)
- NREAMNAM= OXEH AE 52 E(EE, IFE, 2HE), =UHA EHEOE AE Bt= &5,
BEE 0ISct HEE AlMsH HAS MSELICH



Al AFRIQHZE
A WEH 12,000
AL W 14,000
A7 =8 15,000
M5 4 Y a=AHt 20,000
HFHb =R 2 X)/Zt0124) 50,000
HAE=a=H50| 50,000
{HA O] & & = O 48,000
SIS THE=FF AKX 45,000
=IN) 30,000
AKX 7o HZE 50,000
RESHIX 50,000

=LA EH| o] =2 etZtA) O] 2 %l50,000

=5

7t AOEA F| 14,000
X| Ok g 14,000
e e 20,000
A ETEEES 8,000
O} O] E (zHai ) 8,000

N2 Eof & xm=) 12,000
o= 2f Lo (Ao = 12,000

CANAERFH (M) 12,000

20 5l0| = 16,000
&0|= 14,000
MZ 14,000

- NEEAN A= O28EN
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== A 2f
ZQA=FH2|FA 10000 FRE 6,500
o AMTOP 5000 S EF(OfHXH}) 5,500
=22} 4,000
ZHALO|C} 4,000
H| Et500 4,000
ot of ol = 5,000
AEFEH A F I 8,500
ZIE[ARE 5,000
HO|YOFA 10,000
QLA AlE 8,000
4l HiFE= SLHME AEEILICK ORI IR-=LH+S=4
- NRIEANINE DN HE 52 HEN, DX, 2H), S BEE02 IF BE &8
EHEES 0|Zct HEE AMMSHAE RISSLIC
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=g X
SOl E2H|2|FA 10000 TLE 6,500
OH Al TOP 5,000 S=HE (Ol X[} 5,500
H=2t 4,000
ZHAFO|CH 4,000
H| E}500 4,000
ot of ol = 5,000
AEFH A Z{ 1] 8,500
ZIIE|AYE 5,000
HC|nHFA 10,000
QLAY 8,000

A HEE = ZLHAE AREREILICH ORI IE-=LH+S=4D
- KRIEANINE DHEH SE 22 BEE, DX, 2HE), 2 A FHE02 AF DIE &8
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